I

HSSSC Sub Station Generator Attendant 1_2020 Cat 27
(%2021 )) Paper _ 13020 37,

oy
1. N%e the convention.

(A) Steel (B) Lead B) T/
(C) Glass ) (D) Mai'ble (D)
N _ wEEE

2. Haryana is called as the
(A) Breadbasket of India
(B) Land of flowers
(C) Land of temples

(D) Pious State
3. Shrey went to the movies nine days égo. 3. s & gga fhew %@;‘ET oT| 98 el
He goes to movies only on Thuisday. ﬂﬁﬁﬂﬁﬁﬁ"{ﬁ'@ﬁm‘r | 1 3TTST |edTe <t
What day of the week is today ? wHE R |
(A) Thursday (B) Saturday T (A) TRER B s.|I5fa|(
(C) Sunday (D) Tuesday (C) Haar (D) HIAaR
4. What is the kind of road sign ? 4. 7% e W o AT I EE 7
(A) Police signal - (4) EEﬂ'H‘élaTd
(B) Cautionary sign (B) Grayrl E'a‘_d
(C) Mandatory sign © aﬁa"ﬁ LED
(D) Information sign (D) M1 kel
i.  The book written by the Chinese traveller 5. =t I & @ gr foret Wit g shamm
Xuan Zang depicts the glory of ____ of a;_?ﬁlé‘lﬁ"c’ﬂ'i?ﬁ% |
Haryana. |
A) gHE gfearen
(A) Thanesar (B) Patiala @ ®)
(C) Mahendragarh (D) Kurukshetra (C) T3 (D) Fwed
Find the missing number (?) from the | 6. d 73 *F@en % forq w @ (7) &l TE
alternatives for the series. foreheai # & ﬂﬁ I
42, 48, 60, 66, 78, ?, 96 _ 42, 48, 60, 66, 78, ?, 96
(A) 130 B) 40 (A) 130 (B) 40
(C) 84 (D) 93 =2 (C) 84 (D) 93

B
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8. lfl'(x] = X104 PR

7

'I’l‘hu Sum ol e
I8 equanl g

(A) 3600

(C) 1800

threo mgtlon i my teinngle

(B3) npe
(D) 2700

" . LT X ‘ l 'I
£°C1) in equal to on
\) 505

(©) 5050

(BB) Koao
(D) 60061

9 .
* ———— s the oldest conal of Hary
(A) Bhiwani canal WA i
((g; Bhakea canal
Western and Eastern Y
t sastern
o i amuna Canal
10. Name the symbol ofule;:tricul and
electronic elements,
(A) D.C. (B) A.C./D.C.
(C) Earth (D) A.C.
11. Rabindranath Tagore renounced his
“Knighthood” after

(A) Jallianwala Bagh Atrocities
(B) Non Co-operation Movement
(C) Civil Disobedience Movemént
(D) Quit India Movement

Example for Potential energy
(A) Water stored in a Tank
(B) Coil Spring

(C) Both (A) and (B)

(D) None of the above

A horizontal pipe of cross-sectional diameter
5 cm carries water at a speed of 4 ms™. The
pipe is connected to a smaller pipe with a
cross sectional diameter 4 cm. The velocity
of water through the smaller pipe is

(A) 6.25 ms™ (B) 5 ms™!

(C) 3.2 ms™ (D) 2.56 ms™

.

10.

11‘

18

13..

i A T
fopeft 2y fangn o #feil i 1
h ’

m; 360° (B) ?2:,«
() 180” m) %

ufi',', f(x) = x4 X+ %
rc1) wrrn B
(A) BOGI
(C) HOKO ( |
(A) farh e

(13) “TTET] 6T

(. afzer) el 791 2

el
o 4,000 % ¥

(B) 5049
(D) 50051

@) wH. /3
(D) TH.

ety i 3 fofm we o e 3T
wrezger TR R Y

(A) SferaTaTen ST TEER

(B) STEEAN HialeH

(C) wfera 31w e

(D) 9IE B! A&eH
feufest il 1 ISR ?

(A) T ¢ W wufed OHT

(B) hige fam

(), (A) 3R (B) 3T

(D) 39 1 ¥ IS e

ITIEY HTE ™ 5 cm F TH Ao I59 |
T4 ms'H A E R | 39 IBEIT H 4 cm
ITIRY FHTE A ATt T 37T T13T T AN
T R B UISY % WEAY ¥ S AT R
(A), 6.25 ms™ (B) 5 ms™!

(C) 3.2 ms™! (D) 2.56 ms™
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14, What i= the Sdounig of Pressnre ¢

15.

16.

18.

19.

20.

21.

(1)
(D) rad/uee

(\) N/m”
(M kg

A 18 2 sequence of inatructions
that perform a particulny taak,

(A) Software

(B) Hardware

(C) Program

(D) Operating system

I pa (Paseal) =
(A) 1000 N/m?
(C) 100 N/m#

Haryana ranks first in the production of
in the country,

(A) Cement (B) Tractor

(C) Car (D) Scooty

Brass is an alloy of

(A) copper and aluminium

(B) zinc and aluminium

(C) copper and zinc

(D) none of the above

(B) 1 N/m?
(D) 10 N/m?

The metals in the middle of t;hé,. actind

series are
(A) highly reactive

(B) moderately reactive -

(C) less reactive

(D) unreactive

Who among the following is the last ruler

of Mughal dynasty ?

(A) Mohammad Shah
(B) Farrukshiyar

(C) Bahadur Shah I1

(D) Aurangazeb

Convert 24% into fraction.
(A) 6/24 (B) 6/26
(D) 2/26

(C) 3/15

4-

l'ia

16.

17.

18.

19.

20.

21.

1/2020 (27)

g.1,) T PR 7

anyat 7 et ST (

(1)
Q\'l :Wlﬂ? (D) rad/sec
(C) kut Ersait 761 U7 oot B i e From
— L acd
(A) TR
() T
(D) ayfeqefén farzn
qr (EFA) =
(Im I((mu N/m* (B) lem'-’z
() 100 N/m* (D) 10 N/m
g %mﬁ______?mmmfmgm
A TE |
() Hie (B) %
(C) TR D) *
drad 1 fageng 2 |

3t qegHifad ‘

Fraffigs & @ FH-91 e 991 0 3fed
I o1 ?

(A) WIEHE TITe

(B) FEERER

(C) TETR VT 11

(D). 3T

24% 1 O o s |
(A) 6/24
(C) 8/15
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23.

25.

26.

27.

28.

oil found in Thanesnr ol

The heavy 8
Haryann ir known N8

(/\) Dabor

(C) Nelli
The 14" Summit of NAM in

(B) Dhaka

(D) Havana
les (drawn) having
ric circles.

(B) Knithal
(D) None of these
2006 was held in

(A) Delhi

(C) Columbo

When two or more cire
, they are called concent

(A) different center

(B) tangent center

(C) common centre

(D) none of the above

When you format a magnetic disk, t
drive creates a set of concentric rings,
on each side of the disk.

(B) Spindle

he disk
called

(A) Tracks

(C) Boot sector (D) Sectors

__ was the Chief Justice of thr
High Court of Punjab. and Harys .
when the Haryana State came in* .he
existence in November 1966. :
(A) Justice A. B. Saharya

(B) Justice Harbans Singh

(C) Justice Mehar Singh

(D) Justice Ramlal -

Which of the following country’s-
Tri-service force contingent participated
in India’s 72 Republic Day Parade ?
(A) Sri Lanka

(B) Brazil

(C) Bangladesh _

(D) None of the above

Which grade pencil is the hardes:t: _ﬁencil ?
(A) 7B (B) 2B

(C) 9H (D) 3B

22,

23.

24.

172020 (27)

g 3 g i "
A —— i ;:gqﬁjﬁﬁmﬁﬁg] EﬁI
(A). BT B) e

(C) Aeett ] (D) 578 & %78 7
NAM <Rl 143]%2006'3

BT

(A)”ﬁ"_‘fﬁ (B) @1

© (D) Bam

e @ 7 2 @ feres g (Wi ) &

-

T

#r &, 3w gu Feem &)

(A) AT g
(B) TEiE &g
(C)- T $Z

. (D) 3w ° ¥ TS T8

25.

“26.

e U gaehid f&eh w1 19 wiie # § qr
fowan grsa guehsll Il 1 v vy o
& T IR s 2, i Fed A
(> 379 ®) foree

S e 1966 H ST T4 571 1 vt 3R
R ) T o e A e

() =, . e

(B) =rHfd s fae
© =i T fiE

(o), = T

27.

28.

R % 72 A T Rag we § fr=fafaa §
# formr w1 < Py st 3 arafiies s foran 2
(A) et sTave 2.9

(B) FA

(@OELSICHE

(D) 37 A T 7

) 750 | ®) 2
(©.9T WEES
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29.

30.

31.

32.

33.

34.

The First British Governor General in
India

(A) Warren Hastings

(B) Lord Canning

(C) Lord Dalhousie

(D) Lord Mountbatten

Virender Sehwag scored his maiden double
centl:ury in One Day International cricket
against

(A) West Indies
(C) Newzeland

The converse of ‘If today is Monday, then

tomorrow is Tuesday’ is 1

(A) If tomorrow is Tuesday, then today
is Monday

(B) If today is not Monday, then tomorrow
is Tuesday | )

(C) If tomorrow is not Tuesdaj}- then
today is Monday

(D) None of these

(B) England
(D) Australia

Find the H.CF. of the numbers * -, 100.
@A) 2 (B) 6
(C) 4 D) 8

Who was the first Governor of Haryana ?
(A) B.N. Chakraborty =
(B)-G.D. Tapase

(C) Dharma Vira

(D) R.S. Narula

A is a transmission path over
which data or information in the form
of electric signals, is passed from one
component to another in a computer.
(A) Arithmetic Logic Unit (ALU)

(B) Control Unit (CcU)

(C).Bus
(D) Registers

29.

30.

31.

_32.' ’

33.

34.

1/2020 (27)

et 1 o e et S

() A e

‘(B)aﬁf%ﬁ'ﬂ

(C)ﬁﬁﬁﬁﬁﬂ-

(D) @TE TP "
ﬁmammmﬂmm@ﬂ
e Rt frhe 7 % foreg el
(A) T = B) ¥

() gfiers (D) e

afy o SR &, T e WA 8 I
@ _
(@~ﬂﬁﬁm%riﬁm E" %

B) s 371 GHAT ] &, T et HTeEn §

© qﬁwmqﬁ%,?ﬁmm%

(D) T & IS TEl
24, 72, 100 T 1 FETH FHTIEAE A

| (B) 6
A) 2
EC;‘i D) 8

mgwmaﬁqm?
(A) #ft. T, <Eha
@) .. T
(© wH i
(D) AR TH. el
e e gy & o e A I
e b 6 w0 A Al 8, ST HE
Hoe @ gE EUe A Sl &
(A) Therifes it gfe (Terd)
HESE EACIEY
Q 5"
(D)
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36. Momentum = mnss x
(A) gravity
(B) acceleration
(C), velocity
(D) none of the above

36.  Our body works within the pH range of

(A) 7-8 (B) 7.0-9.4

(©) 7-17.8 (D) 7.56-8,0
37. 1Acre=

(A) 1000 cent (B) 100 cent

(C) 10 cent (D) 1cent

38. Who composed ‘Amritvani’ in Haryanvi
language ?
(A) Sant Garibdas
(B) Guru Gorakhnath
(C) Raja Ram Shastri
(D) Jetram

39. When does solar eclipse takes place ?

(A) Full moon day

(B) When the moon is the closest to the
earth

(C) When the moon is in between tF
sun and earth on new moon d

(D) -When earth is in between r
sun on new moon day

.and

40. Which is the unmed.late life saving care
and support ?

(A) First Aid

(B) Call a doctor

(C) Intensive care

(D) Medical treatment

41. In 1833 British formed a new North
Western province with as
its Headquarters to which Haryana
belonged to.
(A) Agra

(C) Amritsar

(B) Lahore
(D) Meerut

36.

36.

37,

38.

39.

40.,

41.

1/2020 (27)

'Fi@'l:""'sﬂmx
(A) TeeaTRYY]
(B) T

(C) am :

(D) 3 # & HIg TE

T IR o pH 2ioft T o e 21
(A) 7-8 (B) 7.0-9.4

Q) 7-1.8 (D) 7.5—8.0

1The =
(AL 1000 &2 (B) 100¥e
(©) 1082 (D) 1%

el v # emgaamt i w6
(A) ga THisE™

(B)aaamgﬂ%ﬁmﬁt
(O) V= S & o = g Si gei %
st 31 ST

(D)aammwﬂ;ﬁqtgsd’rqgiaﬂtam
% e o7 Y

AhIEA St 18 2T aﬂtmﬁq—tﬁ
27

(A) mﬁmﬁm

(B) ST Hl J

(C) & @I

(D) Faftrean 3m=r

1833 #, farfeer % efmon & et wh v 3w
;ﬁqmmmmmg@m
q11 ‘

(A) 3T
(C) ST

(B) TR
D) W
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42,

43,  \Which is tho physical hazard ?
(A) Smoking (1) Vibration
(C) Corrosive (D) None of these
44.  Which of the following is not the work of
poet Khushiram Sharma ?
(A) Guru Gobind Singh
(B) Sur Sagar
(C) Yuddha Charita
(D) Rana Nimantrana
45. TFour turners finish a job in 300 hr ..
How much time will G turners ta* , do
the same job ?
(A) 200 hours (B) 300 ars
(C) 100 hours (D) 50 hours
46. Which electronic component is used as a
solid state switch ? ;
(A) Inductor (B) Resistor
(C) Capacitor (D) Transistor
47. Where in Haryana the first bio-gas plant
was setup ? ' '
(A) Hissar (B) Panipat
(C) Sonipat (D) Sirsa
48. Which one is the purest form of Iron ?
(A) Pig Iron
(B) Cast Iron
- (C) Wrought Iron
C (D) Steels and Alloy steels

Within n group of w40 omployoon
compuny, it in known 1,
Fnplinh, 11O wponk Hingj
Tolmaue T in nlvo know
both Faglish and Hing
Hindi nand Tolugu, 6O aponk botl
and Englinh, whilo 20 aponk

Hindi as well as 'Tolugu,
thom speak only Hindi ?

(\) 6O (B) 20
(C) 30 (D) 80

=8-

—

e —

ol y
L 100 Hponk
v 10 Hpenlk
n that 30 nponl
i, ho Hponke lyyyy,

] 'l‘uluuu

!*]nulinll,
How many of

44,

45,

46.

47.

48.

112020 (55,

U A 040 Ffr

SR U 2 fi=ht o o

:fhv_ 14(0)

- A " ' ﬁa‘n --' -
®1 3 4 15 3 5 ﬁﬁ?mmarﬁ
“ %, 50

: JEF AT ¥, 50 7 e 2
E‘T?liihﬂﬁ%mf:‘-ﬁzniﬁﬁ%ﬂ 1y

witerd 1 3 & ﬁmmfﬁvﬁ Tm
(A) 60 (B) 20 ’
(C) 30 (D) 80

FiH B Nferr T Fm-m 2 7

(A) THT (B) #q

(C). &

(D) 399 4 #1335

Freferfen 4 i
ST L ke

A) TE e e
(B) GLETR
(©) 7@ T
- (D) o fraoy
R T T W 300 52 F g £ 41
SE W 1 6 2 e wwa F g ?
(A). 200 &2 (B) 300 =2
(©) 100% (D) 505
Tt ST sreeh st swm wifers e e
F w9 H s ® ? :
(A) 37X (B) wieresh
(C) Ferrfe D) T
o e S g et e e
T |
(A) feam (B). T
(© @l i
TR 1 HE & T HA-TOR ?
Ay Fom s
(B) &I AETH
(C) T T Pl
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40,

50.

b1.

52.

53.

54.

55.

56.

The Jnwaharlal Nehru Port is located in

(A) Wost. Bengal

(B) Kerala

(C) Maharashtra

(D) None of the above

Standard size of the D1 drawing board
(in mm)

(A) 1500 x 1000 x 26

(B) 600 x 360 x 16

(C) 100 x 500 x 16

(D) 1000 x 700 x 26

Demand of Punjabi Suba in 1948 was first
raised by

(A) Pratap Singh

(B) Sant [Fateh Singh

(C) Pandit Neki Ram

(D) Master Tara Singh

Transmission of heat takes place in
ways. o

(A) Three (B) Two

(C) Four (D) One

Aruna ranks 12" in a class of 46 at
will be her rank from the last

(A) 33 B) 3

(C) 35 D) 3«
Circumference is the linear length of the
entire curve equal to

(A) nR? (B) =D

(C) =R (D) nD?

In Haryana, is the Legislative
Assembly Constituency of Bhiwani district.
(A) Ladwa (B) Kaithal

(C) Balramgarh (D) Loharu

The area of a sector of a circle of radius 6 cin
if the angle of the sector is 60°, is

(4) 6 mem? ®) 7om?
(C) 60 ncm? (D) none of these

9.

49,

50.

b1.

52

'53.

54.

55.

56.

1"29‘20(21')
AT ——dfmy,
(B) &
(C) MRS,
(D) 3% o B =1 73t
D1 51 & 1 A w1 (fay )8

(A) 1500 x 1000 x 25
(B) 500 x 350 x 15
(C) 100 x 500 x 15
(D) 1000 x 700 x 25

1948ﬁﬁ315ﬁ¥@?ﬁ|1ﬁﬂq‘$aﬁzm B
3T | S
(A) wam fée

(B) Hd %ds s

(C) ufea Jhit T

@) AR AT faE

] T T At ¥ e )
(A) T B) A

(C) 9” (D) T

46 BT Y HEM T TN FHT TAH 1297 2,41
2 & 3ge T forden g ?

(A) 33 (B) 34

(Q.35 D) 37

aftftr, R a5 &t e Tard S &
R Bt
(B) =D

 (A) ©R?
(Q) =R D) nD?
g | Trar e = e o
EER A
(A) ST B) FUA -
(C) SaTg (D)_ETs
=11 6 om I U TR F B we T S
afe fir=m @ % =i 60° 2, @t 2t
(A) 6 tem? B) -’écm2
(C) 60 ncm? (D) T & FIS TE

C
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n7.

O8.

ho,

60,

61.

62.

63.

af

Which nmong tho following in n tributnyy
of vivor Gheggee in Hneynng ¢

\) Naytalienrh () Avung
() Saramvalti (1) (!hullt.nnu

What is tho S.1, unig, of kpog( 9
(A\) rad/soe (I3), m/soe
() m/uoe (D) N/m#

man Riglyg Day ig
year on

Internationn] Iy
colebrato every
(A) 120 Marel

(3) 30m Junum'y
(C) 10m Decombey

(D) None of the above

A ball is thyowy Upwards at a copgpip
angle with the horizontal and it returpg
to the ground doscribing a parabolic path,
Which of the following remaing constant 9
(A) Momentum of the ball

(B) Kinetic energy of the bal]

(C) Vertical component of the velocity
(D) Horizontal component of the vel

The Veda Samaj was inspired }
(A) Arya Samaj.

(B) Ramakrishna Mission .
(C) Brahmo Samaj :

(D) Prarthana Samaj

.11e

What is the S.I. unit of surface tension?

(A) J/JK -

(B) Nm

(C) N/m

(D) None of the above -
State in India

Hﬂl‘}’ﬂnﬂdﬂa:;ﬂtz ?': minimum educational

t;'::m!riiﬂf‘ical;it:m for contesting Panchayat

(I:I{uj Institution.

(A) 4!'1

(©) 2"

(B) 3|'l|
(D) lul.

-10-

b7,

h8.

b9,

GO,

61.

62.

63.

172020 (27)

Frstferfiy i A vt 3
U TRy, '-TE,':I ér?m“ Rln s R T o

(A) n: (1) :
(C) Tz} ST
) T (D) =Heim

nfy U, a7 O.L) 7rrf o 8
(A) rnd/soe () my,
(©) migeer Nim'

(D) N/m?

mmm :I,;';' Wmﬁ’?ﬁmaﬁmm
(A) 12775

(B) 30 S

(C), 10 fgar _

(D) 3% % 2 7§
wﬁaﬁ%ﬁaeﬁmu@ﬁﬁaazﬁmm
mfﬁaﬁtﬁﬁmw%ﬁnﬁ{ﬁm@

AT 21 & A et 2 ) et 34
1 P 7

Q) T2 F1 g3

(B) 712 i first it
(C) M I IeAfeR Tz
(D) = =1 &feet e

I3 TS Forerd Sifte o ?
(&) 3T FHTSt

(B) T g

(C) &t |quTs

(D) SefT g

Y53 TE i TH, 37T, (S.1) 3T T8 ?
A) JIK .

(B) Nm
(&) N/'m

(D) I § & F il

[ T TS AT o A e
Eﬁmmmmm
=g 97|
(A) e () e
QT i
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Gﬁ.

66.

67.

68.

69.

The points A(=1, 2), B3, =1) nnd C(2, 6)
are the vertices of :

(A) 1sosceles right angled triongle

n) Equilateral trinngle

(©) Sealene trinngle

(D) None of these

If gas is passed over heated CuO,
the black coating on the surface turns
brown as the reverse reaction takes place

and copper is obtained.

(A) nitrogen (B) oxygen

(C) hydrogen (D) helium

The melting temperature of tungsten is
(A) 4000°C (B) 3380°C:

(C) 5000°C (D) 3180°C

Who founded the city of Faridabad in
Haryana ?

(A) Malik Mahdud Khan
(B) Raja Nuhar Singh
(C) Jahangir i
(D) Sheikh Farid

" is an EEPROM bas’ flash

" memory which can be repeate s erased

and written using electric signals.

(A) Pen drives '

(B) Blue ray disc

(C) Digital Video Disc Recordable (DVD-R)
(D) None of these '

Name the Rivet Symbol.

L 2

(A) Site SNAP Headed rivets
(B) Shop SNAP Headed rivets
(C) Open Hole - |

| (D) None of the above

ko

1/2020 (27)

64. Torg A1, 2), B3, —1) 2n o

afd § | e
(A TfEaTg TR e
@) Twag fngs
(©) ferarramg Fng
(D) T @ Fé T
65. R a1 s T FEF Cuo timEm
Y S, @ wren a7 i ufaten
Wt i wreet ST §, T AT 9 g €
(A) g (B) HiaH=H
(C) TTgSISH D) difeem
66. TTEEA 1 T a9 FoRa BT @ ?
(A) 4000°C (B, 3380°C
(C) 5000°C (D) 3180°C

67. Ekgmﬁmﬂmﬁwﬁ.wmﬁmiﬁ?
(A) Ticr e W
@) T R e
(C) SRt '
(D) ¥ Wiz

68. U EEPROM ST FoisT HHRd
37 =T e S Gehan & 3 forega Werdl
=1 FA S foram 1 e 2
@ W

~B) =i fe=

(@), e dife foer ieaa (SEE-21R)
(D) 378 & r§ T -

69. 34 f@e fa =1 9 sam|
(A) T3 V9 ges fae
(B), YITY &Y 22 fae

(C) 3 B
(D) ST | | IS T
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70.

72,

73.

74.

75.

- The ASEAN countries who si,

(B) Indonesia, Malaysia, Phﬂip’bines,

Magnzine published by Sahityn Akndemi
of Haryann is

(A) Ubharta Haryann

(B) Rajanigandhn

(C) Harigandha

(D) Haryana Samvad

A 18 a delicate glass device

that can control and ampl:
. nplify electron:
signals. Y electronic

(A) Transistors

(B) Vacuum tubes

(C) Integra_ted circuits
(D) Microprocessors

French curves are used to draw
(A) Lines (B) Circles
(C) Smooth Curves (D) Angle lines

Pointing towards Riya, Nitin said ‘T am

the only son of her mother’s son’. How is

Riya related to Nitin ?

(A) Niece (B). Cousin

(C) Mother (D) Aunt

d to

Bangkok Declaration 1967

(A) India, Malaysia, Philippines, Singapore,
Shri Lanka s
Maldives, Thailand

(C) Indonesia, Malaysia, Phil@ppines,
Vietnam, Thailand .

(D) Indonesia, Malaysia, Philippines,
Singapore, Thailand

How many Legislative Assembly
constituencies are there in Haryana in 2021 7
(A) 93 (B) 90

(C) 80 (D) 85
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ﬂﬂmvn#ﬁmﬁzmammﬁmlmﬁrmwﬁm%
(A) 3w wframm

(B) wrfirjsn

(C) vy

(D), &femm zam

Tl 2

(A) Zifsred

(B). &P &

(C) Fize Trfza

(D) wTgRITTEGY

SR | '
(4) Y i O

(C) T = Q T ER
fraft 1 i gema e gy e 3, <A
R GEa 2 ?

(A) efrit B) = =

(©) |t @) g

uftee 39 g 1967 T SerTeh ST 9L

TEaiar fohe _

(Ay s, v, feehita, fmg, s

@) E2nfmar, i, feefiE, Ao,
qrEcis

() st wafkwn, feehiia, fawrem,

(D) sERfm, T, feedE, g,
BIEE

2021, efeaon i firen foram aw & R 7

B) 90
D) 85

(A) 93
(C) 80




Which is the correct sequonco ol'oporntion
e y ‘ |
bhe ppl-f{ll'nll!(i when using tho fire
to .

i isher
extinguish i |
(A) Pull, Aim, Sweep, Squeeze

(1) Push, Arrange, Squeozo, Sweop
(©) Pull, Aim, Squeeze, Sweep

(D) Push, Arrange, Sweep, Sequence
Which of the following is the oldest radio
station of Haryana ?

() All India Radio, Kurukshetra

(B) All India Radio, Gurgnon

(C) All India Radio, Rohtak

(D) All India Radio, Hissar

=1
=1
-

78. Which of the following Indian State has
the lowest population according to 2011
census ? '

(A) Goa (B) Sikkim

(C) Nagaland (D) Tripura
79. What is a Class “A” fire ?

(A) Flammable liquids

(B) Wood, paper, cloth etc.

(C) Gas and liquefied gas

(D) All of the above

80. Which of the following lakes is the ]- _est
wetland in Haryana ?

(A) Bhindawas lake
(B) Brahma Sarovar
(C) Surajkund lake
(D) Badkhal lake

81. 1linch=
(A) 0.0254 mm (B) 2.54 mm
(C) 0.254 mm (D) 25.4thm
82. Theruleof Ballabh .
garhin Hary
actively involyed i iindas e

struggle wag
(A) Yadavindra Singh
(B) Raja Nahar Singh
(© Maharaja Agrasen
(D) King Prithy
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&) ST T uaef
(B;mm,mmﬁ
(©) i g
(D) IuTara qufy
Eﬁqmﬁﬁn%fﬁgaaﬁﬁﬁ%aﬂq—@h
a@ﬂlﬁ*{ﬁl(*ﬁa"rmﬁq)%? -
(A), Tiream =ig
(B) & T
(©) FTFe 3fier
(D) sEFd e
159 =
(A) 0.0254 Tt (B) 2.54 Tt
(C) 0.254 forfy (D) 25.4 firdy
ﬁw%r%am g’tﬂaﬁ'—gﬁmvﬁﬁmm
o 3 g 3

s his ASREGIRSD 0 =1
(A) Iz e
(B).TST e i
(C) WS 3nree
- (D) TS gy
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83.

84,

85.

86.

(4) Mischeif 00se the mis-gpelt one,
(B) Belief
(C) Grief
(D) Relief

Fillin the blank in the following sentence
With suitable Moda] Auxiliaries,

(A) Shall
(B) Must
(C) Might

(Dl Can

Identify the typeslldnds of sen_teﬁ?c’le in the
following sentences from the alternatives

given below. _ .

Please open the window:.

(A) Assertive sentence

(B) Exclamatory sentence -
(©) Inéerrogative senter_'ncé
(D) Imperative sentence

8¢ the ong wh: 87.

88.
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F M4, % v, % s, F F, F A

(A) aq=g3 sNah

(B) Gay Mg

(C) ferernfe ana

(D) it & =hrd el
mmaﬁm%’ﬁﬁﬁmwﬁ

%m@%ﬁ%ﬁm%mma

o |

(A deaH

B)- =

O fem

(D) FH ARG TR
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(&) _sferer_

(B) GeTEH

(C) Eay S
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af gl

(A), Froe =

(B) el 1 ot 7 T

(C) i rFame

(D) 39 | S 7
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